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Math 30-1: Chapter 4 Review Assignment

Trigonometry & the Unit Circle

Answer the following questions.  Remember to show all your work.

1. Sketch an angle of -250°, in standard position.
(T1.1)
2. Convert the angle 
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 to degrees. 
(T1.6)
3. Convert 210° to radians.  Give the exact value, in terms of 
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. 
(T1.5)
4. Convert 278° to radians.  Round your answer to 2 decimal places.
(T1.5)
5. Determine one positive angle and one negative angle that are coterminal with 70°
(T1.7)
6. Sketch an angle of 
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 radians in standard position.
(T1.4)
7. An angle, θ, in standard position, is show to the right.
(T1.4)
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Determine which of the following is the best estimate
of the rotation angle θ.
a) 1.25 radians

b) 3.12 radians

c) 4.01 radians

d) 5.38 radians

Explain why your choice is correct.

8. Determine the general form for all angles coterminal with 
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(T1.8)
9. [image: image43.png]


Mary is given the diagram at the right, showing an angle 
rotation of 120°.  The arc length of the sector is 40 cm.
For each statement below, determine if the statement
is true or false.  Explain your reasoning.

a) The radius of the circle, to the nearest centimetre, is 19 cm.
(T1.9)
b) An equivalent angle rotation is 
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(T1.5)
c) If the arc length on this circle increases to 80 cm, then the central angle must be 240°.

 
(T1.9)
d) Mary can determine the radius of the circle by dividing the given angle by the arc length.
 
(T1.9)
10. A circle with a radius, r, an arc length of 34π, 
(T1.9)
and two central angles of 
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 and 
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 is shown 
at the right.

a) [image: image44.png]


Determine the value of a.

b) Determine the length of the radius, to the nearest whole number.

11. If the point 
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 lies on a circle with a radius of 1, then the exact value of k can be expressed as 
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.  Determine the value of b to the nearest hundredth.
(T2.3)
12. On a unit circle, if the point 
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 lies on the terminal arm of an angle in standard position, what are the exact values of the 6 trigonometric ratios?
(T2.2)
13. Given that 
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, determine the exact value of 
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(T2.3)
14. Determine the exact value of 
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(T3.2)
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Point 
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 and point 
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(T3.2) 
on the terminal are of two different angles in 
standard position.  The angle, 
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, where 
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, can be expressed in the form 
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.  
Determine the values of a and b.

16. For each of the following trigonometric ratios, determine if its value is zero, or if it is undefined.
(T3.2)
a) 
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b) 
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c) 
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d) 
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17. Solve for 
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 in the interval 0°
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(T3.3)
18. Given that the point 
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 is on the terminal arm of 
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, determine the exact value of the six trigonometric ratios.
(T3.4)
19. Given that the point 
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 is on the terminal arm of 
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, determine all possible value of 
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 for the domain 
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.  (Round answers to 3 decimal places).
(T3.5)
20. Given that 
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, determine the exact value of the five remaining trigonometric ratios.
 
(T3.6)
21. For the angles 
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, determine if each of the following statements is true or false.  Explain your reasoning.
a) They all have the same reference angle.
(T3.2)
b) These angles in degrees are, respectively, 30°, 150°, 210°, and 300°.
(T1.6)
c) They are all part of the solution set 
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(T3.8)
d) The values of 
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 are positive.
(T3.2)
22. Determine the general solution, in radians, for 
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.  Leave your answer in exact form.
(T3.8)
23. Solve 
[image: image39.wmf]2

2coscos3

qq

+=

 for 
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 in the domain 0° 
[image: image41.wmf]q

£<

 360°.
(T3.8)
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